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SECOND YEAR HIGHER SECONDARY
SAY /IMPROVEMENT EXAMINATION, JUNE - 2023

Part — 111 Time : 2 Hours
CHEMISTRY Cool-off time : 15 Minutes

Maximum : 60 Scores

(Hearing Impaired)

/

General Instructions to Candidates :

There is a ‘Cool-off time’ of 15 minutes in addition to the writing time.

Use the ‘Cool-off time’ to get familiar with questions and to plan your answers.
Read questions carefully before answering.

Read the instructions carefully.

Calculations, figures and graphs should be shown in the answer sheet itself.
Malayalam version of the questions is also provided.

Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the
Examination Hall.
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9.

Answer any 4 questions from 1 — 5. Each carries 1 score. 4x1=4)

For a reaction A + B — C + D; the rate law is given by equation r = k [A]? [B]'. The

order of the reaction is

(2,3,0)

The general outer electronic configuration of d-block element is

[ (n-1)d""1 ns!=2 / nd! 19 ns! ]

Among the following an example for unidentate ligand is

(H,0 / EDTA)

CH; -Br+Ag—-F — CH; - F + AgBr

This reaction is known as . (Swarts reaction / Finkelstein reaction)
The IUPAC name of CH; — CO — CH,, - CH, — CHj is . (Pentan-2-one / Pent-3-one)
Answer any 8 questions from 6 to 15. Each carries 2 scores. 8 x2=16)

What are colligative properties ?
State Henry’s law.

Represent the cell in which the following reaction takes place :

+ 2+
Cu(s) + 2Ag(aq) - Cu(aq) + 2Ag(s)

Define molecularity of reaction.
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1 2)®08 5 10 casymMaElad oBo@Brlene 4 af)INOTIM POMOORY)®)d:.

1 capoad afloo. (4x1=4)
1. A+B — C+ D agam 0oqvaiaidommonien aloss cuaandye r =k [A]* [B]. so
OV (IIBEDMEDNOHG B30dWA @1 H)aM).
(2,3,0)
2. d-GanIoes MEISHBBRINS Hald®AIIW ENEIEENS allmydave @RYeIN.

[ (n-1)d""1 ns!=2 / nd! 19 ns! ]

3. 98¢ alo@mMAIRI@3 afe:a0s3 £noaBalm 80)30a006mo @6,

(H,0 / EDTA)

4 CH;-Br+Ag-F—> CH;-F+AgBr
6D PITV(AINIBBHMo a)aNIEM @AW |S)ANG).

(01PBSIV (IaIBEDM./ aflE:@3aeqUS (ICIBGTMMo)

5. CH;-CO -CH, - CH, - CH; @as IUPAC momo @1 H)AN).
(0a160808-2-630613/ Ha1a3-3-6306113)

6 2)®e8 15 OO ¢a13iEBEI8 BO®BIES 8 afIPOVIM DOMOOHAY)®)H>.
2 capod afloeo. 8 x2=16)

6.  adoglenglal vEeMWwAREU af) MG LI ?
7. 0a00ddles Bleae @IqRoalae)d.

8. 21)IeS ©ISOTNAIEDAM dINVEIAUIBTDMe MSANIN OAVElON (G Wld-0emo
af)$) O :

Cu,, + 2Ag(;l) — Cu?’ + 2Ag

(s) (aq)

9.  caoglayendlgl aamaeeman aldg)a 169)8.
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10.  Write any two properties of d-block elements.

11. Write the type of structural isomerism shown by following pairs of coordination

compounds :
(i) [Co(NH;)s SO,] Br and [Co(NH;)5 Br] SO, (1)
(ii)) [Co(NH;)s NO,] C/, and [Co(NH;); — ONO] C/, (1)

12.  Write the name of following chemical reactions :

N2CT CuyCl C/

i) 2, +N, M
X R

(i) ©/ +2Na+R—Xﬂ—>©/ +2 NaX (1)

13. Classify the following into primary and secondary alcohols.
(i) CH;-CH -CH,-OH

|
CH,

(i) CH, - CH- CH, - CH,
OH

14. Match the carbohydrate given in Column — I with their example in Column — IL

Column — | Column — 11

(1) Monosaccharide | (a) Sucrose

(i) Polysaccharide (b) Glucose

(c) Cellulose

15. CH,; —NH, is more basic than NH;. Why ?
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10.

I1.

12.

13.

14.

I5.

d-cenoss MEIBIBRIOS aBO®EL1)0 O6NE TVANCUDUDDHUB af) @)

@Y §RHIS)ANABIBHMAN TVAOTVoGWIRH: TVoWIHMEBBIOS CERIWIRHUD aFE)B®) 0o

ALISMO 6)af) GALIHAGIATVLAE BN HNIMNHDAN ) eI@)c>.
(i) [Co(NH;); SO,] Br 2o [Co(NH,)s Br] SO,
(i) [Co(NH;)s NO,] Cl, 9o [Co(NH;); — ONO] C/,

21JQIOS §3IS)TTIGI S9N EITV(AIAUBTHMEBBIOS Cal® af)$}@).

N,CI - CuyCly cl
(i) SN +N,
X DO®A R
(if) +2Na+R-X—— > +2 NaX

(1)
(1)

(1)

(1)

@AY  OBISTWGBISNINAUOD  (AINA  BRHYDBNCa0IB  BGEIIW  @IRYDILNGCOUD
af)Mleae M AR SO H0)d.
(i) CH;-CH -CH,-OH
i,
(i) CH; - CH-CH, - CH,
OH
CHIBo — [ @ mMac3lIdlenan oeaoéicsmjoe)aop@(apggoe)ag CHIBo — Il @3
M@ A B H6)AN @RAIWIOS HBIOVEMEIBBNIW] GalDd)oalS] GalBB9)H:.
G080 — 1 G080 — 11
(1) ©@IGEMITVILHNNOW | (a) aVIBEBONV
(i)  GaIgElVIBHOHOW’ (b) Qe
(c) eavepeeAV

CH; — NH, aflim’NH; 6@9003 GanITila:@ &:)S)@EI06M. af)e d3:I6ne ?
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Answer any 8 questions from 16 to 26. Each carries 3 scores. 8x3=24)

16. (1) What are secondary cells ? 2)
(1) Write an example for secondary cell. (1)
17. (1) Define half-life of a reaction. 2)
(1) Write Arrhenius equation. (1)

18. A first order reaction is found to have rate constant k = 6.2 x 10719 7! Find half-life of
this reaction.

19. (1) What is lanthanoid contraction ? 2)

(1)) Mention any one consequence of lanthanoid contraction. 1)

20. Match the co-ordination compound given in Column-I with their Hybridization in

Column-II,
Column — I Column — 11
(i) [Co(NH,),J** (@) sp’
(i) [NiClJ*~ (b) d?sp?
(iif) [Ni(CN),]* (c) spd
(d) dsp

21. Complete the following reactions :

OH
1) +7Zn—— —— +7Zn0 (1)
. Cu
(ii) CH;-CH,-OH K 1)
H,SO,
(i) CH;-CH, - OH K +H,0 (1)
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16.

17.

18.

19.

20.

21.

16 2)®@3 26 Q100 a108yBSEI08 aBOOBIES 8 afINOTIM POMOORYI®)d:.

3 capod aflowo. 8x3=24)
(1) aVLENMERAIHAVE3 af)aIMISLIAD ? 2)
(i)  eaVsneEAl HAVENM BO)BINOBEMS af) @)D (1)
(i) 80} EMVEINIBGDMONE G @OARLOY APINIHEMAN WFBQ|a l89)M:. 2)
(i) @ERAIMAV IVANIDG:o Af)P))D. (1)

80) 8aM% B0BWA EMV(EIAIBGMMETIOM Mlows qudleome k = 6.2 x 10710 s
@IS EDD ANV IAUBTDMOETOG ERARLOWAY D618 ISl M.

(1) EMmEMIVAW TVEBI2lo af)ANIOLIND ? (2)

(i) EPIMEMIVAL TVEEI2 1GNNS 80) alBlEM@anLio af)$ )@} (1)

C3HIBo-I @ @ANIBIHHNAN  AVAOTVEEWIRG: TVoMHMTBOB  GHIBo-II @ 988
@RAIWIOS TLB:EEMAAIVS] GaldoalS] Gal@HN)d:.

c080 — I c080 — I1
(i) [Co(NH;)s]** (a) sp’
(i) [NiClJ*~ (b) d%sp’
(ii)) [Ni(CN),J* (c) sp’d
(d) dsp?

@06 alOWAN PINV(AIAUBTNMEIBUD a)BEPAOLE af) 3@ :

OH
1) @ +7Zn—— —— +7Zn0 (1)
. Cu
(ii) CHy - CH, - OH —— )
H,SO,
(iii) CHy - CH, - OH — " +H,0 (1)
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22.

23.

24.

25.

26.

27.

(1) Name the enzyme which converts glucose to ethanol. (1)

(i) Explain Reimer-Tiemann reaction. 2)

(1)  Which is more reactive towards nucleophilic addition,
CH,; - CHO or CH;-CO-CH,;? (1)
(i) Identify the product and name the reaction given below

Conc - KOH
—_—

2 HCHO — 2+ HCOOK. )

A £
(i) CH, - Cl-COOH is a stronger acid than CH;COOH. Why ? 2)

(i1)) Among CH; — COCH; and HCHO, which compound undergo haloform reaction ? (1)

i CiH;—-SO,-Clisknownas

(Hinsberg reagent, Tollens reagent) 1)
(1) Among the following amines, which one will give Carbylamine reaction ?

(a) CH;-NH, (b) (CH,;),NH (1)
(ii1) Arrange the following compounds in the increasing order of their basic strength :

(1) Write any one difference between fibrous and globular proteins. 2)

(1) Identify the peptide bond among the following :
(-CO0-/ -CO-NH-) 1)

Answer any 4 questions from 27 to 31. Each carries 4 scores. (4 x4=16)

(1)  Which of the following is true for an ideal solution ?

(AH_, >0,AH_. =0, AH_. <0) (1)
(1) Write an example for ideal solution. (1)
(111) State Raoult’s law. 2)
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22.

23.

24.

25.

26.

27.

1) QEePIMIOMm agLOCMIUB @IRYSSI AOQYIAN EIAVINT aB@EMN? (1)
(1) dlad —Sl@oas (1B Mo AflvoEl3:G@1Ee) M. 2)

i) myglewoadeld @Wlauad  (@IIBCMOTIGE  aBEIMoem’ (Hlwoudlei®
&)5)®@3,CH; — CHO @reog@lad CH; — CO — CH; ? 1)

(i) 210105 OBHISEWIELNAN  EINV(AINIBBHMOTIOL!I  DelMMo @@l 2Tl
@IANV(EIAUBGDDBTNO N Cal® af)$)@)D>.

wnoawe - KOH
2ucHo 22 KO o hcook. 2)

A —
(i) CH;COOH cme92ud afloy anslw aravlaw @rem CH, — C/— COOH.
af)TNE RH06MNE ? 2)
(ii) CH; — COCH; , HCHO o)amlai@l@d af® TUo@HMAWN a0ICRIIGN0

(BTN DTN G a16)18HSIHBN B> ? 1)
(i) C¢Hs - SO, — C/ @rdloea|sian®’ af)amnoem.
(aFladaV snidwy dlewead, csogmav dlewsad) (1)

(i) @6y 6305 ENCEMNIM  ERAIMB®HEIG  ~BEEM  BH0deeMIC3  @oalad
OlOBH A3 M) ?
(a) CH;-NH, (b) (CH;),NH 1)
(iii) @6 6F*HISIEINBLNAN  TLoWBMEBAOB  CNUTUIBD  HSANOMAVBa,f
(DA DD B8 :

(i)  ©9anENIIV EnIogla8, eIMNeId Gr1glad ol @olenss 80 Aly®Pavo

af) 91> 2)
(i) ©96¥ a10WMAIVITS AalalHOHYUIY NITWMo BT, :
(-COO0-/ -CO-NH-) (1)

27 2)®@8 31 AO0 ¢alsiInElad aBomBIEe 4 af)IPOTIM DOMOOAN;®)H>.

4 capod oflwo. 4x4=16)
(i) 210165 ®IMIBEHMTIT @IRYBARUD EIDWTOW TVLNIMWla VOGBIWIWED® ?
(AH_. >0, AH_ . =0, AH_. <0) (1)
(i) ©PBAVD EIDVMIVES BO)BIAOVEMo Af)PI®)d:. (1)
(i) 0oaNUBSIV WA (AITV®OANE)M:. (2)
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28. Draw structures of cis and trans isomers of [Pt(NH;),]C/,.

29.  Variation of molar conductivity (A ) versus concentration (\/E) for a strong and weak

electrolytes are given below :

0 Jc -
(1) Identify I and II as strong and weak electrolytes. 2)

(i) Define molar conductivity. 2)

30. (i) Among the following compounds, which will react faster in Sy2 reaction with

OH ?
(CH; - Cl/(CH;); -C-CI) (1)
(i) What is Sy2 reaction ? 2)
(111) Write one use of Chloroform. (1)
31. (1) Write any one test to distinguish between aldehydes and ketones. 2)
(1) Explain Hell-Volhard-Zelinsky (HVZ) reaction. 2)
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28.  [Pt(NH;),]C/, afload adlav eageavoeadlodm)e Somav eaf)cruieadlo @l *eIsm

QIO >

29. =meller enoddoleer alloe &0 DeIGESHoLGOBD0  allop @Sl

HLICH06 IGO0 wow@%“(\/a) @OMAVE]L)BS CAIBIA 210RIBOWOS (A,)

QUG OMo BHIENAD (NIaN 21)AISS GalBTTNBHNaM) :

(it)

30, (i)

(it)

(1i1)

31 (i)

(it)

S-2264

A
Am
0 Jc =
L, II @l@lojdlayss (afloje 3)slom, alloe $oammo) ) )
GAIBIAB 2I10LIGHD af)aNISEMAN T AQ21B6)d. 2)

@009  OB0S)OBBASNMAUVI@  «g® qVoBm@oe OH mowss Sy 2

(IQIREM BT @3 CAUNBIID aBB61a|S)ANE@?

(CH; - Cl/(CH;); -C-CI) 1)
Sp2 (IIBBMMo af)MISEITD ? 2)
¢H06006a0021H (3 B0JICWINO af)$I®)d:. 1)
@R BIUIIE OO HEBW)o H QI HCB D)o Cellcl) o1 Efellwlislep)ia’s!
aBO@E Lo 630) al@lBH6Mo af)$I®)d>. 2)
£a0@3-61010U3 a0ddW-aVelmdavdl (HVZ) (1a1domme alluoBaos)d,. (2)
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